HENEREREHES

Mt

SHM3FE11H4H (K)

$:550) (847 : kg)
pHE i miEH o2 = 1B Z 1B " =

S 23% T 875.5 240 39
<IN 474.1 280 33
£S5 271.7 951 398
JUFHLA 215.4 1,419 39
LSHLA 408.6 567 30
TFELSHLA 568.1 1,310 120
=EHLA 736.4 359 20
IALA 646.9 711 300
<55 53.0 290 46
<9S8 30.0 1,222 621 |o o
FARLY 281.5 1,500 39
IVAVTAFX 338.5 259 20
TVAVTAF A58 120.0 1,400 460 | 2"
F7> 07 3,592.0 669 31
HIHS 91.1 43 25
HHAZEA 64.2 260 20
A5+ 177.7 330 20
AXHHd 956.2 710 20
sH= 55.2 7,000 369
Cpaim 49.5| 15,600 2,890 [gin 0 "
TYRSERF 45.3 678 289
>S5+ hF/ A 36.5 570 476

o 9,211.9




§::3::) (BT : kg )
TRETRAE sSiEg H =2 = 1B Z & M =
SE  23& ZILAA T 2,178.1 448 193
IV AA FIFE 1,395.0 4,440 1,900 [ 2"
1 c/s
TUAH 1,719.6 620 169
U 158 655.0 4,919 1,329 ﬁfmds
1 c/s
=247 323.5 759 160
o a2 5,893.9 510 62
aitEHE 21,377.0




[f¥fa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
EERFME 65% |TU 65.9 50 20
ESX 175.2 700 139
=N 48.4 343 20
<A 111.5 809 20
FHA 45.0 219 100
HFHTS 20.4 50 20
0%/ UL 256.1 2,023 1,155
8905 270.2 1,040 389
RZF 320.7 680 20
JEZHAN 52.6 110 20
SFIA 258.3 1,939 600
RORD 73.2 1,400 30
T 26.1 1,020 50
HY= 174.9 1,090 200
MU 3% 89035 50.4 871 551
BTl 6% Ry FHA 1,333.9 450 200
he 44% EXTVRS 75.2 181 100
MGHEE 3,358.0




[(&£) (BT ¢ kg )
JRETELE =V = 1B Z 1B B &
ShEE 23
EEXRIFE 6528 |Eo X 1,800 1,000
A2HLA 1,300 500
<AL A 4,000 500
I5A 2,000 400
ThSHATH 500 300
XXF 700 500
NSO 2,000 1,000
EHE 152 NSO 3,000 1,000
#]D 12 JU 200 100
E=5X 2,000 800
T 44E N 1,400 800
= 4,142.4




